hieks LED HU{EiREE V/1.0

Graphic production tutorial (& C#HI/EHTR)
TR LR HERT), BEBAEXPAR, iZIMNMEEHEGRNME. MU EEREAHBZL, FHREAREH, REERRE!

Best wishes to all buyers for a successful production and learning of the relevant knowledge to make the value of learning more than the value of the

kit.If the above information is not clear, please want want online consultation, thank you for your support!

The finished product figure (FiMmE) :

DIY {153 http://59tiaoba.tiaobao.com F1l1m



hieks LED HU{EiREE V/1.0

——— }

Trees 0¥

E3
TR i_[liil'i“lllll:l NIRRT

DIY fi5%

http://59tiaoba.tiaobao.com



hieks LED HU{EiREE V/1.0

Production steps (FH{EZIR) -

1. Welded motherboard finished products (/24 F M)

K |(mkim || @ m|L1
ﬂ%Eﬁ?P"’tK}]EfE’sO
D5

Kimsva s &
C4@D )ﬂ  |STCSF2K64S4

100nf 5 = C9 ’
= = 100m< ©

O HR Uante: the receiving pipe is connected to the negative pole at the lpng foot

. I R I R
- L=

AT ASON R i ], R B AR R
The side plate should be fixed after alignment and

welded vertically to the main board as far as possible

U K A
The receiving pipe is connected to the

negative pole at the long foot

DIY #1& http://59tiaoba.tiacbao.com £3MW



~

hieks LED HU{EiREE V/1.0

- c!7§ - f
- &=l =
00nE| |=

"CH3%06 O

P H R 22

Screw of balancing

B2 ) FH XSCTET JBRG 2 bt v
Use double-sided adhesive tape between each

other to prevent falling off

DIY {153 http://59tiaoba.tiaobao.com



hieks LED HU{EiREE V/1.0

ANGRS £ IR I EAW 1 R v

The red wire is connected to the red dot side of the motor

b I'!'-v-:_*fh .

-

W i
v ey
"M
"
£ R 7 et

Note the line order and the direction of the subunits

LePE ANy AR, R B R AR 5 PR B AR
The coil does not have positive or negative. Note that after passing through the black

accessories as shown in the figure, use the heat-shrinkable tube to cover the welding

DIY fi5R http://59tiaoba.tiaobao.com FES5W



hieks LED HU{EiREE V/1.0

nihl¥y

[y

DIY #I5R http://59tiaoba.tiacbao.com %6

=



hieks LED HU{EiREE V/1.0

[ %€ LLAN RS

Fixed infrared emitting tube

e T

"n .
m;ﬂ hs-:r:}:':-‘"‘ e
| gl i)

DIY {153 http://59tiaoba.tiaobao.com




hieks LED HU{EiREE V/1.0

6. M2*6 3 self-tapping screws are equipped with the base and fixed batteries. The batteries are directly inserted
into the 2P wire to the power supply plate (M2*6 B BIE22 3 s & )% e DA K Bl x2 e vth, EMhERBRHEHET 2P
LB BEEHO

DIY {153 http://59tiaoba.tiaobao.com



hieks LED HU{EiREE V/1.0

7. Connect the 6P wire and fix the base with 6 M2*6 self-tapping screws (E:1F 6P 2&3f HF 6 i M2*6 H BHR224Z
24 [ 5 JES B D

DIY #1& http://59tiaoba.tiacbao.com £9MW



hieks LED HU{EiREE V/1.0

7. Please test whether the rotating LED can display the text normally before the sticker. If not, please see the

debugging instructions.Only if the text can be displayed normally can the sticker be carried out.

NS5 AT SRR LED RET BUEH R0, MBERAE, WEERMI . B ER SR FA ST
i

DIY #1& http://59tiaoba.tiacbao.com £10m



hieks LED HU{EiREE V/1.0

LA B B

| The infrared alignment tube
should be vertical

o MEA6H LT JLazf
Mol gy Lz,

B, TSy IR, o
Uﬁﬁ"
AR, ok TR

iﬁzl BERER:AR )

suitable for ¢

8. Finally, cover the cylindrical transparent tube, which will be loose between the assembly and the transparent tube due to errors. Please use hot melt

adhesive or double-sided adhesive to reinforce the tube, but it cannot be completely fixed. To change the word, open the transparent tube, which can be a

litle tight. (F¢JF#: LRREEWNE, HTREZEABSIFBELMGS5EWE Z R ELBR, §H AR XU BN E
BREARTEEE, AFRBEITHAZXNEWEN, FREMTLY, REHELET, HTRIIBHRANNE
. )

DIY #1& http://59tiaoba.tiacbao.com g1l



hieks LED HU{EiREE V/1.0

s

e T

.=

DIY #1& http://59tiaoba.tiacbao.com g12m



	Production steps（制作步骤）：

